. . 0, 125, 250, 375, 500, 625, 750, 875, 1000
Three, 5 and 9 colour steps, numeric calculation example Bl&ik¢k0000w Bld&1kKISN6w AW/ MBI W

0,00

L* TUBLOG,U :[50/|Og(5)] |Og(Y/YU )+50, YN =4, YU =20, YW =100

0,00

0,00 0,50 1,00

0,50 | 1,00 0,50

0,00 0,25 0,37

0,00 0,50 1,00 0,00 0,75 1,00

NOOw  NO8w  N16w NOOw  NO4w N12w  Nlew NOOw  NO2w NO6w N10w

0,00 [ 0,50 [ 1,00 0,00 | 0,50 (1):88 050 I 1.00 0,00 | 0,50 0,50
0.00 £ 050 [ 1.00 0,00 [ 0.25 [ 0’50 B 075 ] 1,00 0,00 [ 0,12 0,62
0 =) 0 25

100 50 75 100 0 12

heal0-7n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000




